PTANTARILY &5 s vo MAGNUM
® LAMPANYE Fox: 319.266.9627 STRA’GHT EDGE SQUEEGEE

72224

Key Number/ltem Description/Quantity/Part Number

1 66" Handle 1 71150
2 Handle Grip 1 71156
3 Twist Brace 2 71152
4 Gusset Brace 2 71151
5 Head 1
24" 72226
36” 72238
6 Head Strip 1
24" 72227
36” 72239
7 1/4-20 X 1-3/4” Bolt 3 71153
8 1/4-20 Nylon Lock Nut 5 71154
9 1/4-20 X 5/8” Bolt 4 71155
10 1/4-20 X 3/4” Bolt 5 72250 o 1.— 9.8
11 1/4-20 K-Lock Nut 5 72251 '
12 Squeegee Blade 1
24" 72225
36” 72237 10,11

PMMSES-72224-A



